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17. Dniw till' piMitau'ou AliCPK. ^'ivon AIi = 'V2i),

BC= -24(1. CD = Vm, Z>i,'== ;]•;<), and A\l = "JOO f.-ct ; and

nuirU' at /y = 110°. and an<'l(; at C'= 117'. Mfasiirc AC
an<l /y/>.

Is. A mail staiidiiiu' at a diHlaiicf from a tatliedral

tiiKls that tilt' to)) of the spire is clcvatt'd :'>(»" ahovf the

liorizoiital liiif nii a level witli the base of the catlieilral ;

lie then walks 'JOO feet direetly towards the cathedral on

that line and limls the top of the spife to he elevateil C,i}°
;

lind. hy plotting,', the height of the spire. ( <', T.'OO. )

11). If von leave a ceitain jioint and walk 40 feet to the

east, then !0 feet to the northeast, then T<> feet to the

north, then -W feet l(t the northwest, and then 100 feet

to the southwest, h<)W far is the point at last reached

from the startinuf-point and from each of the anf,''ular

points ?

'20. ^""rrtm a point within a pentajjfon the distances to

the corners A. li. C. iK and A' are respeetivelv -Wk -'K •'>-.

30. and 8;") feet, and t he anodes .4 OH. JUH\ COlK and J>OE
are respectively 71°. .")<•'', 4'.»^, aiul H\°. Diaw the pentai^on

and lind the lent^ih of each side.

21. .V mine has a vertical shaft 200 feet deep. From

the bottom a tnnnel is made for a distance of 300 feet on

an n[)\vard slope of 20°. It is then continued at a slope

of :>0°. How far from the mouth of the shaft will the

tunnel strike level ;,'round ?

22. Hy plottinLT lind approxinnitely the parts and area

of the trians^le BCE within the quadrilateral ABCD ;

giv.M! .4^> = 147. 7;>r=2;l5. an^de .4 /X'^ 90°. an<rle

i>r^=rM°. angle BAD^WV, AE = \.)i), and Di:=db.

(C, 1901.)


